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130100{72 L0 A B 7,255
130100{72 1L\ Z A F 4,375 4325 10 1,836 1,296
130100{72 L0 A RI5 2,880 2,880 12 1,728 864
130340(31cA LA B 12,010
130340(31CA LA R 5,440 5,440 10 2,376 864
130340(31cA LA = 4,880 4,880 10 2,160 1,296
130340(31cA LA RI5 250 250 10
130400| 1% 5 B 852
130400| 21 5 e 810 810| 10 3,348 3,024
130400| 1% 5 K4y 42 42| 0.5
130600{ 1A = A B 1,008
130600{ 1A = A = 1,000 0 970 5 5,616 1,188
131100|f32 B 18,655
131100|f %2 B 13,330 720 11,110 15 1,026 3,024 1,890
131100| &3 I 525 0 525 15 2,160 1,620
131700(% + ~ B 33,370
1317003 &~ B4 17,090 14,720] 10 4,104 702
131700(% + ~ RE 14,580 14580 12 2,160 540
1317003 &~ e 1,700 1,700 10 2,160 1,512
131800(1F 5 M A E B 669
131800(1F 5 NAE s 309 251 25| 0.2 162
131800((2 5 A E & 180 0 180 0.18
131910{F A = B 1,158
131910|F5 & KBR 7 0 7| 0.045 63 62




131910(Fh & [ 230 0 230 1 864 648
131910(F R & &) 488 0 488| 10 3,780 2,592
131950(B & et 3,063

131950(A R & 5 550 0 400 5 2,592 1,836
131950(B A& BSE 989 0 663 3 1,620 1,080
131950|H A & K5 900 0 780 3 1,458 1,404
131950|B A& BES 594 0 594 3 1,458 1,350
133400(L % % e 23,420

133400(L % 2 R 9,210 0 9,210| 10 1,836 1,188
133400(L % % & 13,010 0| 11,700 10 2,052 1,404
134100 |#8/1 et 15,485

134100 (&A1 hy= 1,880 0 1,860 5 1,944 1,296
134100 |#8/1 ) 1,390 0 1,245 5 2,052 1,188
134100|#A/1 T 4,485 0 4,485 5 1,944 1,296
134100 |#8/1 Syt 1,480 0 800 5 1,944 1,512
134100|#A/1 = 3,675 0 3,385 5 2,052 1,296
134100 |88/ BES 970 0 970 5 1,674 1,350
134200(F /1 e 3,200

1342007 I —a1—-Y—-5vF 3,200 0 3,200 10 2,484 1,512
134300(#6F 1 8,071

134300 (%6 7 S 733 733 2 972 486
134300|50F = 6,715 6,001 0.3 119 103
134300 (%6 7 =1 524 501| 0.3 151 146
134400| k= k e 7,538

134400| k< k KRG 2,715 2,715 1,404 1,134
134400| k= k REZR 4,783 4,783 1,512 1,080
134500| " — < > e 5,151

134500| &’ —~< >~ =40 972 882 0.15 92 76
134500| " — < > = 3,279 2,967| 0.13 92 65
135100| WA A e 90




135100 WA F A RS 40 0 40 2 2,754 2,700
135200|%= ¥ 144

135200|%= wE 45 0 45 1 2,160 1,404
135300 &"— X ¥ 124

135300|— X BE 90 90 2 2,484 2,052
135300 &"— X ANER L 24 12 4 3,888

1361001 A L & ¥ 7,710

136100(AA L & I 4,915 4,915 5 3,240 540
1361001 A L & wE 2,475 2,290 5 1,944 432
136200|E 5% TeE 6,140

136200| & R 1,440 1,440 10 1,966 1,609
136200(F % B IR 4,700 4,700 10 2,128 1,750
136210| X —27 4 >~ ¥ 2,060

136210( X —7 1 ~ Rl 2,060 0 2,060 10 3,564 1,296
136300| 2% ¥ 840

136300(E3 BERE 30 0 30 2 2,160 1,944
136600|7- A & ¥ 29,320

136600|7z & i 24,020 0] 24,020 20 2,808 864
136600|7- & i 5,200 0 5,200 10 1,350 1,296
138100(& L W /o ld ¥ 762

138100|& L Wiz lF fig Ly 161 161 0.1 76
138100(& L W /o lF BE 601 589 0.2 281 108
138500| L& LE ¥ 436

138500(L® LE g 428 0 329 0.2 89 81
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240110|/N7 XA DA Eoe= 406
240110|/NT XA DA AL 406 0 406 4 8,640 7,020
241260 HE A M A Eoe= 1,330
241260|HE AN A Fig 930 890 10 1,728 1,080
241260 HE A M A IR 400 350 10 2,916 2,484
242320(>afa—IL K | 840
242320(>a S a—F | BFH& 840 0 500 10 7,128 7,020
242830|.5 LW AT HoEK 2,780
242830(3 LW AT B 2,780 0 600 10 6,048 4,104
242850|EM N A Z HoEK 1,210
242850(E#M Y A Z B 1,210 0 0 10
245220( 777 =T o5 3
2452201777 = 7 I 3 0 3 0.3 810
246000|L B & HeEK 3,234
246000|W1 B 2 EE 108 21 871 0.25 346 216 410 238
246000|L B & H 265 0 2471 0.25 324 194
246000|W1 B 2 &N 629 0 566| 0.27 432 194
246000|L B & K& 1,406 0 1,352 0.25 378 194
246000|W1 B 2 3 826 0 811 0.25 281 162
247100| 7 —ILZ X A v [## 152
247100| 7 —ILRX X >~ ) 143 0 143 9 16,200 6,480
247100| 77— R 4 O v =40 10 0 0 10
2474917 A v — X O N 100
24074917 4 > — X A REXR 100 0 100 5 4,320 4,104
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